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A /NP S BEML O i T T EAmFE FE AR N AR E
w & &k & 59,026,320 [
T 5 fi #% & 54,654,000 1
THE B FH 2 %0 & 4,372,320 1




& W RERNERRESNEhETISE No.
2 b1 5 = | B i 4] &
RPN
I| #ETEHE 1 =K 42,312,283
ERCEREX ¢ 42,312,283
Hm
1| Hmaes 1 =K 1,742,800
0| Higs e 1 K 3,816,457
— 1 = 6,783,396
FamE 12,342,653
EFF 54,654,936
A EH KA (L FmE) SREES iUl ae 54,654,000
TH B Bl S AH 4 %R 4,372,320
WA (LFEE) 59,026,320
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No. 2
% E7 i3] 2  Hf i ) &
I |BEITS
[ a |BERRAMEEM LS T 1 =X 27,850,932
I b | BERAMEE (L& T2 1 =X 13,331,238
[c |EEMR - BEME R TH 1 =X 1,130,113
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D REBR/NEERBRENEMBETSE No.
% b i3] 2 Bifg i 28 &

[a |BEFNEETSE
1 |[EERGETE 1 K 6,290,410
2 Bk IS 1 = 6,488,052
3 |IEEUETHE 1 X 6,676,805
4 |EEERTEH 1 K 2,438,680
5 |BEWETE 1 X 2,455,820
6 |FoMmIE 1 K 2,139,720
7 |E 1 X 1,361,445
&t 27,850,932




D RERNERRSNEhETSE No. 4
% b i3] 2 Bifg i 28 &
Ib |EIEFNEBETE
1 |[EERGETE 1 K 3,117,853
2 |BikdE LS 1 = 1,251,687
3 |IEEUETHE 1 X 3,453,856
4 |BEERETEH 1 K 2,411,998
5 |BEWETE 1 X 412,110
6 |FoMmIE 1 K 1,912,418
7 |E 1 X 771,316
&t 13,331,238
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% E7 i3] 2 Bifg i ) &
Ic|EEF - HERERRBELE
1 [EATAE 1 K 905,233
2 |TERF R 1 = 209,680
3 |WEFS A 1 K 15,200
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